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1. The	value	of	the	polynomial (−6s−5) at 	s=(-3) is
(i) 12 (ii) 11 (iii) 14 (iv) 13 (v) 15

2. The	value	of	the	polynomial (8s2	 −6s+3) at 	s=2is

(i) 26 (ii) 22 (iii) 21 (iv) 23 (v) 24

3. The	value	of	the	polynomial (−2d3	 −9d
2
	 −8d) at 	d=3is

(i) -162 (ii) -156 (iii) -159 (iv) -160 (v) -158

4. The	value	of	the	polynomial (9w4	 +w
3
	 −7w

2
	 −9w+3) at 	w=(-1) is

(i) 15 (ii) 13 (iii) 12 (iv) 10 (v) 14

5. The	value	of	the	polynomial (−7qs) at 	q=(-5) , r=5,s=3	 is
(i) 105 (ii) 106 (iii) 107 (iv) 104 (v) 103

6. The	value	of	the	polynomial 6ik2	 at 	 i=1, j=5,k=5	 is

(i) 153 (ii) 149 (iii) 148 (iv) 151 (v) 150

7. The	value	of	the	polynomial (−7u+6v) at 	 t=(-4) ,u=(-5) ,v=(-2) 	 is
(i) 22 (ii) 23 (iii) 24 (iv) 25 (v) 21

8. The	value	of	the	polynomial (3w2	 x
2
	 y
2
	 +2w

2
	 y) at 	w=4,x=(-3) ,y=(-2) 	 is

(i) 1664 (ii) 1666 (iii) 1661 (iv) 1665 (v) 1663

9. The	value	of	the	polynomial (−8tuv−8uv−9u) at 	 t=0,u=(-4) ,v=(-4) 	 is
(i) -93 (ii) -92 (iii) -95 (iv) -89 (v) -91

10. The	value	of	the	polynomial (2r2	 s
2
	 −2r

2
	 st

2
	 −3r

2
	 t ) at 	 r=1,s=(-3) , t=(-4) 	 is

(i) 127 (ii) 128 (iii) 123 (iv) 125 (v) 126

11. The	value	of	the	polynomial (−7jk+7j−3k) at 	 i=5, j=2,k=(-4) 	 is
(i) 83 (ii) 85 (iii) 81 (iv) 79 (v) 82

12. The	value	of	the	polynomial (−2r2	 t−6rs
2
	 t
2
	 +6rs

2
	 t ) at 	 r=4,s=2,t=(-2) 	 is

(i) -511 (ii) -512 (iii) -515 (iv) -510 (v) -513

13. The	value	of	the	polynomial (−9) at 	b=0,c=0,d=3	 is
(i) -11 (ii) -10 (iii) -8 (iv) -9 (v) -6



14. The	value	of	the	polynomial 0 at 	x=4,y=(-4) ,z=0	 is
(i) 3 (ii) 1 (iii) -1 (iv) -3 (v) 0

15. Given =(2r−7) , find	f(r) f(4)
(i) 2 (ii) 1 (iii) 3 (iv) -1 (v) 0

16. Given =(5w2	 +w+1) , find	f(w) f((-1))

(i) 4 (ii) 8 (iii) 5 (iv) 3 (v) 6

17. Given =(8w3	 +7w
2
	 −6w) , find	f(w) f(5)

(i) 1146 (ii) 1143 (iii) 1144 (iv) 1147 (v) 1145

18. Given =(−5y4	 −2y
3
	 +5y

2
	 −y+7) , find	f(y) f((-4))

(i) -1059 (ii) -1062 (iii) -1061 (iv) -1060 (v) -1064



 1)	(iv)  2)	(iv)  3)	(iii)  4)	(ii)  5)	(i)  6)	(v)
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